
Monday 25th January 2021 

 

Using the method from the White Rose video answer the following 

calculations.  

1. 2.96 x 5 =  

2. 84.4 x 7 =       

3. 27.5 x 9 =  

4. 288.66 x 5 =    

5. 857.12 x 8 =  

 

Read the word problems and answer the questions  

 Joe buys 4 books for £4.72 

each. He pays with a £20 note. 

How much change does he 

receive? 

 Miss Dodd buys 3 pairs of 

jeans that cost £24.87. She hands 

the cashier 4 £20 notes. How 

much change does she get? 

 

Fill in the missing digits. 

  

6 . _ 2                         _ 6 . 3                                      9 4 . 2 8 

   X              6                   X          7                                      X       _ 

         _ 9 . 1 2                    3 9 4 . _                                     _ 4 8 . 5 2     

 


